11

101.

How many electrons are there in one coulomb charge?

(A)
(B)
(©)
(D)

1.6%107* electrons
6.25x10"® electrons
6.25x 107" electrons

1.6 x 10" electrons

1 sagmd Wengni i gl o drer sravdt_pransetlen craiment Sens TS e ?

(A)
(B)
(©

)

1.6x107"7 aewdi_prengser

6.25x 10" erevsi_grensen
8.25x 107 qes granser

1.68x10" sravél yrensar

A bullet of mass 15 g is horizontally fired with velocity 100 ms-*f from a pistol of mass 2 kg.

Total momentum of the pistol and bullet before firing'is equal to

(A)
(B)

(&

D)

Zero
201.5 kg ms1
215 kg ms™

200 kg ms™!

15 Sgnd  Fepwerer giuursdl @an® 100 Bl Goausgdler dewliwrs sLiuBdipg.

giliwursdulen flenm 2 HE crafler &R ugHE wpen FHUUTES wHDDL GET(H BSweapilar Gorss 2. GHLb

GTEHTEHT?

(A)

(B)

(&
(D)

]

2015 H4) Bt
215 A6 Bedl?
200 &1 Bedl-!
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103.  What is the chemical name of DDT?

(&)  Dichloro diphenyl trichloro ethane
(B)  Dichloro diphenyl tribromo ethane
I (C)  Diphenyl dichloro trichloro ethane

(I Diphenyl dibromo trichloro ethane

z DDT-uller Coughlivins eramen?
Ay eorglamGm esdemard go7gleamGrr w5Gsdr
A (B) e @CamGym apSenenay p.eoquGrnor weCser
I (C) e Sevand v mEeanSrm gapgGarnGyt m&Caen

(D) eLSemand e CBrrlur yeanggCernCar msCast

104. What are Microsporum, Epidermophyton?
(A}  Diseasc causing bacteria in man
(BB)  Dasesse causing fungiin man
(C)  Disease causing virus iz man

(I))  Disease causing protozoans in man

amnsCrreGLartd, enFCLAtwrlmul Lrer wrenas?
(A} welsealisy Carl qhLEsgub undefiLrgsdr
(B)  weallsadid Coml giLBgb erensaer

(€)  walselld Coru ghl g eeursuas

Dy wehgald Crmi spulssd 4ErrlliaGsraumssd

i
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- 106.

n

Ovulation is stimulated by

(A) LH
By LTH
(C)  Renin

(D)  Adrenalin

e b ellPUGHisenad grarRid enriGosesy

A LH
(B) LTH
(C) GQreflen

D) = Fancllen

Which gymnospermic plant cures rheumatism?
{A) Araucaﬁa

(B) Ephedra

(C)  Gnetum

(D)  Pinus

WPL&G eurgseng ol Gl uenu b B bCearevG Ui srard eg)?
Q) peGafiur

(B enSige

(G  fliw

D) eueamsn

GRFT3
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107.

A special root-like structure in cuscuta and viscum is called

(A)
(B)
©)
(D)

Rhizoids
tHaustoria
Hyphase

Stolens

gL L, eevalh  Guratn greigmadtes  smamouls  Splurer  Geumser

eniphaiLRélamen.

(A)
(B)
(€
(D}

Geullaer
anreuGriliunssar
@M T&&ET

oG menem

Which of the following is observed as“National Girl Child Day”?

A)
®
(©
)

8% January
21st January
29nd January

24tk January

2 & Guar @pbamsad Semb eliGung SigyehssluBeng?

(A)
(B)
(©)

(D)

GRFT3

semeurf] 8
goemaurt 21
soemauil 22

soemau il 24
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109. Which of the following was discovered by ONGC in the Indian Ocean on 26™ July 20167
(A)  Hydrated Methane

{B) Hydrated Benzene

{C) Hydrated Ether
()  Hydrated Octane
| eramGennis whpith BwpHens curyy Bpeuerh Shsan b s salindaes QS dughsLda
s €anew 26/2016-60 sem (DG G557
B SCrppd Gupp BiCsean

A (B

©  BGrppbd Qupp mgisd

AGrhmid Qupp Guender

D) BGoppd Quip sCdn

110. Which Bill was passed in the Parliament of India in 2016 to adopt Uniform Tax of States?
. (A) Goods and Sales Tax
(B) Goods and Service Tax
(C) Direct Tax
(D)  Indirect Tax

aps wCsngr GpHu  urgrgoapsda 20168 mrl wyugh @by afl dfuussts
BlenpCaunmiii L gi?
(A  Qurmlsar whnyb efpuemen aurl
B (B) sraé@E opmd Ceana eul
(C) Cpiaps audl

D)  wvepws el

1t
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111.  Which State Governor was appointed as Tamilnadu Governor additional-charge in
September, 20167

{A) Kerala

(B)  Karnataka

(C)  Maharashtra
(I Madhva Pradesh

i

abs wrflesda st s@PsiG wiflosda afsd Aurpty apenpTTs Geiibui 2016-60
ugell gromr?

c (A)  Capgerr

| I ' (B) aimrLsT

(Cy  wanyraye T

Dy wsdu SrGaab

112,  Which Musician was honoured in August 2016, by United Nations Organization for her
contribution to music?
(A)  M.S. Subbulakshmi
(B)  Asha Bhosle
(Cy  Lata Mangeshkar
(DY M.S. Rajalakshmi

Sysav orgld, 2016-0, medin srisd soulio abs QoS snaiET Qeamelsstiul Lrir?
(AY  M.S. sl a1l
A By  pewr GuraGa
(C)  wsreiGaasst
Dy  M.S. gyrget s

m
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113,

114.

Identify the 2016 Dhronacharva Awardee
()  Bishweshwar Nandi

()  labtha Babar

(C}y Rani Rampal

(I P.V. Sindhu

2016 b i al semmeaLT ollmay G
(A) G Goucipall Bhal

By @dlgrureg

y g

D) 5o b

The Asian Junior Chess Championships, May 2016 was held at

(&)  Chennal
(By  Mumbal
(C) Kolkatta

(1)  New Deli

28l pyDefi Qe Fahldlaads Curl, Gu, 2016-4

Ay Geanenat

D B b

—
—

(CY  Gardel o

) ygiGeaxd

33
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e
i

Which country’

Rio 2016 Olyvmpie g

i 111

Amoriea

Afvica

Japan

v 20116, Therssa Mo

gecend

tenth

s1xth

Y WAR APPOINTed a8 the e




117.  The Third Asian Ministerial Conference on Tiger Conservation 2016 was held
(A} From April 9% bo 125 2016 at Orissa
(By  From April 4™ to 17 20168 at Caleutza
(¢ From Apral 119 to 144 2016 at New-Delhi

ih) rom Anril 6 to 9% 2016 at Mumbai
Dy F April 6 to 9% 2016 at Mumba

Ei

2018-dr el sy

HEn6 Fai it ¢TRIGs Tl

118, indian Constitution Drafting Committee’s Chairman
(ay Iy, Rajendra Prasad

{3y Jawahsrlal Nehru

m

'35 GRFT3
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119, Which vear the Constitution of India (61 Amendment Act) lowered the voting age from
21 yeafs to 18 voars?
(A) 1988
{B3) 1987
(G 1986

(D) 1985

it emegdiegd @iomody slolh

15 GuRLLD @ik i ; Hlaugy Sl SUTEETIENID aUulg
21 eundlebimbgi 18 & GEnDES LI E?
(A) 1988
A {8y 1987
() 1986
(D) 1985
|
120, Avticle 63 of the Indian Constitution refers to
(A}  Vice-President
{B) President |
(€ Prime Minister
(y  Governor
@A erfiwd seelniflen ergg 63 GRllE kg
(&) @,aﬁﬁm B iTES E@E G
A B}  (muwrs semae
(€ Ggso wpdA
@) penph
GRFT3 36 pas




121, Who is the chalrperson of Nitl Aavog?
{(A) President
33y Prime Mimster
{Cy  Vice-President

() Supreme Court Judge

Bl S G é-Een semend 4ri?
(A} @l LTF SENSUT
q- o

B (B)

(C)  gene G510 Sepaalt

Yiggn wpdls

&i |_’“;€?C"'
=i

(I 2498

131:1

122, The writ of Habeas Corpus 1s
(A)  Tosafcguard people from illegal arrest
(By The Petitioner who requires Jegal help to get his work done by respective Public
Authorities
() It probability a subcrdingte court from acting beyond its jurisdiction

(D) It prevents usurpation of a public offic

o Damemt Ba Gupianas oraiig:

(&) slogfdE unlburs mag dalieudlai(s ) InEsmeT LIFSSTHED

(B  efemamliLignIraEnss &L 2 getl mefisy Qurg Largog Urgsrgsd

(C)y @t §8 wargmsar eopby Bh GeuduBeams gaL dalsd
(D) Surs seswsiismer s &H70I0L Gedsuems sl Halsd

37 GRFT3
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123.  Match the following -

(a) Toeradicate the inequality in the soctety 1. Behefs passed through the generation

5 by Women depend on male companions 2. It proclaims the fame of
l Dr. Muthu Lakshina
()  Tostop the customs of child marriage 3. Bocial justice
(dy  Cancer institute at Advar 4. Prohibition
@ b @ @
(A) 3 1 4 2
® 2 2 1 4
Y 1 4 2 3
4 2 5 1
silrs Gumrssse :
(a) #epsahn srpeysaner femaCe 1. FEIGITE i
by Guer ey sri3Cs eumbueu Z
(¢) @upendHmoensas sHss B fges 3. sapa B4
} ELpend DN HE0S5 S TS BIIELIe gl : e
jen LT 14 BT LORESE O enaT 4. man_ S
d) =i Bt UHDCHIL LBl oa + 5

Sarer(h aubgTr

(a) (b) {c) (d)

[N B
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126,  The Pallava inscription at refers to a great musician Rudracharva.
(A) Kudumivan Mala
(Y Mamandur

{0y Uthirameruar

(I Mahendravadi

LS Lesal]

=

ERER T
PSS PR N

—_
o
=1

During the age of Kalabhras, a Jain meonk whoe established Dravida Sangha at Madurai

was
{A}  Vajranandhi

{B)  Parsava Muruvar
(Cy  Mahavir

(I} Maha Kasabar

SeMnST anadsicy waemrtia SrreiL. shisdens gpufsdh soaws gipel

A {B) LITTFaL (S

{(2) tRErE

(I mew sewT

11
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128. The leading producers of jute in the world 1s
{A) India and Bangladesh
{(B)  Srilanka and Pakistan
(C} China and Japan

(D)  Singapore and Malaysia

o vl samd 2 HusHuRe (penarant i) 2 cret B ST

(A @hswr bhmb eukisTerGesthd
A By @Gonms wpnh urddusnen
(C) Sanm wpHEid syUiLTer

M Snsiud wipwd wCodwr
L )

129.  Asteroids are found between
(AY  Mars and Jupiter
(B)  Earth and Mars
(Cy  Jupiter and Saturn

(DY  Mercury and Venus

GnaGsrdsar GlevcusEnsdlon, Gu Semnpgidend)

(A)  Gedusunii&@Ed ethumpens@h
n B)  liE@h esieurisEmn
(Cy  ehumpens@ib Fatis@Lb.

(D)  useisgh Gaudelsgh

GRET3
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130.

Mateh the following ;.

(a)
(b)
(c)
(d)

(4)
(B)
(€
(D)

Kandla
Jawaharlal Nehru
Paradip

Haldia

(a) (b) (c)

3 2 4
4 i 3
2 3 1
2 i 1

Grarmasls |

(a)
(b)
(©)
(d)

(A)
(B)
(C)

(D)

GR¥T3

ST EUIT
DEIQDTETE) Bh(H
LTS

QpmEdSLsT

(a) (b) {c)

3 2 4
4 1 5
2 3 1
9 i 1

i\D

(d)

3}

{d)

w3

Maharashtra
CGujarat
West Bengal

Orizsa

LOSTIT e JIb
S

A S
DA e RIETETD

)
.

O




131, Match:

{a) Sathya Sodhak Samaj 1. Ramalinga Adigal
(hy  dJeeva Karunyvam 2. dyotiba Phule
(¢} Dharma Paribalanam 3. Swami Vivekanandha
{d) dJeevais Siva 4. Syt Naravana Guru
(a) (b} {c) (ct}
Ay 2 1 4 3
By 2 4 3 1
(Cy 4 1 2 3
D 1 3 2 4
Gummess -
{a) edui Corgd st 1, Girriedlhis Sk &6
(by e sn@eRTLD 2 Coprgiur G
(©)  siw uflorewend 3. seumll efCaisTennaT
(d) PBeunGe flaun 4, Lf BITRLIERT (5(h
(a) (b () (d)

(A} 2 1 4 3

A Ry 2 4 3 1
(G 4 1 2 3
Oy 1 3 2 4

= 43 GRYT3
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132

Which year has a special significance in Indian Economy as far as Economic Reforms are

concerned?
(Ay 1952
(B3} 1881
© 1991
(D) 2001

dur@ertgrrgens Wunmgsaiamsuila

Bhu
p&ESWSgeD uTHS QerDaEh?
(A) 1952
By 1881
(Cy 1991

(D) 2001

VWhere is the diamond cutting industey located in India?

(A) Lucknow
(By Surat

{C) Ludiyana
(D} Chandigar

Jal

Bipguirebles eeurh SimisEd denfibsraa eriils senobgiders?

(A &G
B @
{C) Qf{g‘ﬁﬁune‘m

(D)  seamoanr

GRFT3 44
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134.

Net National Product is
(A Gross Domestic Product - Depreciation

(B)  Gross National Product — Depreciation

(Cy  Net National Product — Depreciation

(DY  Net Domestic Praduct — Depreciation

(AY  Gwongs 2 sl o pugsd - Caliomann

B B Gierss sl B 2 husd - Cslinreab

1

(Cy  flay sl e puid - Genorambd

(D) dareapmnl® e dugs - Gslwrard

When a person lives below the minimum subsistence level he is said to live in

(A Absolute poverty
{(B)  Relative poverty
(Cy  Abstract poveriy

() True poverty

aimpaighe Gelari Gonpsuls asflseries 0y guralt aurpd aigienn Hevaenls Bleuauy
SaHEsTLD

A} apapepiowimes sufienin

By eUuSlE eumyeno

(CY  smés sumsno

() o amanw sumeno

45 GRFT3
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186. 7 9y f 3% 4%
’ P :1+—?gl-&[6-§18
oTlo ) LTy
A -
i
® 2
o 2
i
i
o
K

oy 7 5 7 40
[—IE‘M{ —3; ] 6—3— LG oGt
i) 1) T
_ , 3
1 Ay =
,
I c ® 2
. ;
: ' 11
cy —
i
19
(D) -

137. The population of a czt} in the vear 2014 i1s 1,800,000 and increases at a rate of 20% per vear.
Find the population of the city in the year 20167

(A} 2,40,000
(B)  2,59,200
(©) 255,000
D)  2,54,300

(5 rﬁ&;l}&é‘@m LD&EET G&,rraﬂg 2014-é 180,000, =iz qeuGourm <gambd 20% G (M@ TRITE
2016-id (D) waHeT Dgrens eremen?
{A)  2,40,0600
I3 259,200
B (C)  2,55,000

D) 2.54,300

i1
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b

- 2% hore, which of the following number is suitable in ~ 6 that the number will be a

oot wquare?
1 ' B 0
4 4y 6

G- & - GO BlLgdld erfhs sram SuTL ULl L Te Sigi 4pilp eUMEED ShEW?

he gverage mark of 10 children is 80 then their total mark is
(AY 200 (By 300
{0y 800 (D) - 400

saatlen gpredl nglGudr 80 srafld et safian Glorgs Wb wesr

(By 300
£ S04 @ 400

A yran and woman are engaged in a work. A man can do a piece of work in 4 days and the

n dein 12 dave. Find how many days will they take to finish 1t together?
(By 5days
(D) 3 days

e @imeuh Combg g Caeraey Galiprisd. am g Gaumeaen.

aple . n Guerm =Cs Caesmenw 12 prissfld Celg (pglunt.

wenitl Einanh Gafpg g prisaila (g lumrse?

B

(BY Smrlsd

i1

47 _ GRFT3
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141.  Which of the following set of measurements will form a vight angle triangle?
Ay 6,9 12
(B) 5,8 10
(CY & 5, 542

D) 3,4, 42

ECip Dariisslu’ L saregsmetld stensy Grmarar apsCarangars SenindEh?

—

142, The value of \5609 + 'J2-¢18 + 1,,!.6(} +4/7+ /T

/ " e
Y609 + \jzéa + \;]_60 ST +81 @rwdoy

A 20

B B 25
© 16
@ 9

GRFT2 48




143.

144,

L

The price of a house is decreased from rupees fifteen lakhs to rupees twelve lakhs. The

percentage of decrease is

(A  10%
By 20%
C) 30%
(I 40%

@ et gen eflever 15 Qoo ad mumldlmig 12 Geleb mumurss Goniss ool Gonhs

Fgelish
(A 10%
(B)  20%

©  30%
D) 40%

H3@-3)=5(2t+1) then t=?

A -2
® 2
€y -3
M 3

3(t—3)=5(2+1) cradd £=?

Ay -2
B 2
© -3
Dy 3

49
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145. The value of Aok 75+ 2x1.75x0.7510.75x0.75
1.75x1.75-0.753x0.75
(Ay 35
B) 625
€ 1
M 25

L75x1.75 +2x1.75x0.75+0.75x0.75

1.75x1.75-0.70x0.73

& gy

(A 35
D B) 625

@ 1

) 25

146. 'The value of 16° + 7" -23% is

(A) 7728

(B) 7028
(Cy 7728
M 7718

16% + 7%~ 237 e odloy
(Ay 7728

A ® 7o

C) 7728
(D) 7718

GRFT3 50




147. Find the next term of 4 in the seriesis 1, 1, 2, 8, 3, 27, 4, ...
A 31 @ 29
© 16 D) 64
1,1, 2 8 3, 27, 4, ... eranp Garifler 4-0g =555 o.nliy?
D (A) 31 B 29
© 16 | (D) 64
148. Three angles of a triangle are x — 30°, x — 45°, x + 15°, find the value of x.

149.

—
—

Ay 60° (B) 40°
(C) 80° (Dy  100°

QW péCatamsHen (pany Carammisd ¥ — 30°, x — 45°%, x #15° aalle x-6n gl
(A)  60° ' (B) 402
(C) 80° (D) 100°

The difference between simpie interest and compound interest for a sum of Rs. 12,000 lent

at 10% per annum in 2 years, is
(A) Rs.80 (B) Rs. 90
(Cy Rs. 120 _ (D) Rs. 100

m. 12,000-8@ 10% euly oigh alld @remd weaw@seid Haoidgh smif el lgsEh
sefleut g &@wH o arer afGHursis '

(A) e 80 (B) . 90

© @120 D) ¢ 100

51 ' GRFT3
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150, H vou stand in a rectangular reom, where two adjacent walls are covered with plan

mirrars, the total number of your imazes wiil be
(A mfinty

@B 1

2y 3

{ay 0

sp(m llFeuous ieppulles Fogar Sgplhaet Gurgsstul L Giraml 058085 seuls@ns@ Bl G
Eihdinmis eralcy, o angy) blinnds Sbumsatler erareas sens eTisemen?
£ Feitad:
A (Plg 6t
A » -
3

(y O

151, Audible range of rabbit is

(A} 100 — 32,000 Hz
(B) 1,000~ 150,000 Hz
(Cy 1,000 - 1,600,000 Hz

Iy 900 - 200,600 Hz

apietien bealisentt AnGissn
(Ay 100 - 32,000 Hz

c {B) 1,000 - 1.50,000 Hy
(h 1,060 - 1,00,000 Hz
(D) 900~ 2,00,000 Hz

Tt
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152.

153.

Why vegetables and fruits turn brown on cutting?

A)
(B)
(€
(D

smsMEET HoD Liphmenar Gout g meus@Ein C

(A)
(B)
(©)
D}

Due to the reaction between phenolic compound and oxygen in air

Due to the formation of inorganic com

Due to the formation of salgs

DPue to the formation of hases

*

pound

. T I

LTE gL

[

%

o

tmin
Hiras

fn . -
RE- I P o L T i

srhdlgierer apsetimer wHmk Tamedls Cerch efamean Rauzra

sathn Gl GhammeTser 2 (mouTauSTeD
2_LIL[E&HET 2_(HeUTaUSMe

GTTRISAT 2_(THELTCLSHTE

Among the following which one s not a hiofertilizer?

(A)
B)
(o
(D)

Anabacna
Nostoc

Lindane

Rhizobium

Wenaumaareup i gl aubiil-g mib Side?

(A)
(B)
(C)

)

e IRt
BTGHL TS
aSte oI _ayT

e GamFuwrh
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154. Consider the statements :
{(a) Sterility is céused by the deficiency of Vitamin K.
(b} Night blindness is caused by the deficiency of Vitamin D.
(Ay  Both (a) and (b} are false
(BY  {a}is false and {b) 1s true
{C) (a)is true and (h} is false
(T Both (a) and (b} are true

EpaEATL Fa b mysene Seuerfl ;

() @eQuméass Grwed @apurl (bl savan) sl Lifldar K gapealemd gouddog.

' A (b) wrwassar Corml el iftan D anpeSentd ghuBdng.

(A)  (a8) wogpw (b) seumrearansu
B)  (a) seup wpmb (b) &

(C) (a) eNwpgd (b) sauy
(D) (a) opgd (b) shwrensmey

155. The valve which regulates the blood flow from right ventricle to the pulmonary artery
{A)  Semi-lunar valve
(B)  Auriculo-ventricular valve
(€  BiCuspid valve
(DY  Tri Cuspid valve

cuevg Deuan Ngsaliadlmagl (Qaws Epan) merrsrad swallss G)r5s0 Codaums spm@EURSED

sumevellen { oemi LiLire) Qo

A (4)  Sopspgy anda
(B) féECanr Heusr Ma@eant emaey
(Cy s ewrdey
D) ol ariay
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186. Match List I and List II:

(@
(b
{©
(d)

@A)
(B)
©)

)

Tistl

Glycolysis
Kreb's cycle
Electron transport chain

Fermentation

(@ (b) {c) {d)

3 4 2 1
4 3 2 1
1 3 4 2
2 4 1 3

euflens I 2L & auflens Hevws Gum@mssis :

(a)
(b)
(c)
(d)

. (A)
B (B)
(©)

®

—
-

cuflens [

Hanersameiadian
Q1 appdl
TROHLFTET Sl Sae Fiidlad

GprHsse

(a) (b (c) (d)

3 4
4 3
1 3
2 4

e, = & S
[ I ]

i)

List IT

Oz is not utilised
ATP are produced
Oxidation of pyvruvic acid

Oceurs in ¢cvtoplasm

sufteng IT

L selimer LweanBésluaidama
2. ATP-dsdr 2 paundlngl
3. enumels sndle grbabinGapobh

4. eelCurllomsssid perl Gundns

55 GRFT3
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1567. Who among the Indian-born American scientist bagged the prestigious

Lemelson-MIT prize worth 5,00.000 dollars?
{AY  Ajit Doval

(B) Mohamed Nasheed

(Cy  Ramesh Raskar

(D) Jagdish Tytler

award

SGwilésreler serantds efmarar Qawdssm-enogle (Lemelson-MIT) 5,00,000 Lrat uifls

Guip Gpdi aubsrand HGofss deserei wrt?
(&) =ghs Cameaud

B opswg pads

C (€)  gGoey geigan

(D) m&fem e ekt

158. Who won the G Birla Award '-for-'Scient.iﬁC Research for the year 20167
{A) Sanjeev Galande
(B) Raghavan Varadarajan
(C)  Sriram Ramasamy.

(D)  Sanjay Mittal

2016 oyib ey HaTer idleitud pomiFfsare GD Grar dlgpdlaar Qubpesfs wirr?
A) - &@5@ Hlorchg.

D (B)  grsae euygyivagér
& By pmssms

D) aden Blid

GRFT3 L Eg
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159.  Who is the Chief Information Commissioner of India in September 20167
(A) P.K Sinha
{13y R.K. Narayvanan
{C) R.K. Mathoor

(D) R.K. Koul

G5l S FH6UD LmeTLIT 56 belbul, 2016 Gimbaeut wnT?
Ay  Q.Cs. Hengpm

c By  =un.Cs. pryrieamesr
(C)  i.Cs. wrdgnf

D)y  or.Cs. Gseared

160. “Operation calm down” is associated with which state?
(A) Tamilnadu
{B) Andhra Pradesh
(C) Jammu Kashmir

(IDy  Bihar

“ o 1Gregen STD Leyst eTertig erhs wablesgiar Ggm iy e eni wig?
) sip B

C B sy GrCged
(€©) obup sreiglSiT

D dsnw

57 , GRFT3
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161.

162.

C

GRFT3 58

Name the Dattery that shuts down on over heating and restarts when the temperature

becomes conl

{(A)  Sodium ion
{(By  Lithium ton
(C)  Carbonwon

(D)  Potassium lon

ahs dlarswd Gatub 2 wmd Curg Geeril gemgssiul (., Geltps Hoad Bar@on

Gluities Hgrimmd?

(A

(2
(Y srirudn Saseh

M) Qumladund eyl

Name the person who was appointed as the ambassador on behalf of India to work for the

cause of gender aquaiity and progressef women in UNO for the year 2016
Ay  Adshwarva Rai

(B)  Priyanka Chopta

(Cy  Aishwarya Dhanush

(D}  Sama Mirza

D018 s aegd nadu srhseflar sewldd, Guarselisn su 2 Aaw wWHnW SeuTseflen

nESidsns, Qadurdlar arrurs Sludissiule gngs wrd?

LT -
{y_‘ﬂb—fﬁ R

(A)

M GUTLIT BT

By  Gisiussn Semlgn

€y geventun sayes

Dy sretlwm Bifrgun

[}




163.

164.

—
—

What is the name of Ganga river cleaning scheme?

(A) . Namami Ganga scheme
(BY Poorva Ganga scheme
(Cy  Apoorva Ganga scheme

(D) Ganga Yamuna scheme

shins et SNUUILESED S FFler Gl eraer?

(A pomdl &ker S b
By yfieun aiar Silib
(C)  mipieur sinaEr Sl

(D)  srusr wgpen Sl b

The INSAT-3DR was launched through
b September, 2016 by which rocket?

(A)  GSLV-F05

(B) PSLV-4
(C) Arianne
(D) GSLV-3

rocket for

Metereclogical Research on

T TrEQsL. i, SarGoued eprriisdssts INSAT-3DR-ow, sLbg 8, Qeti b, 2016 ey

efleirQeueflsE epituligi?
{A) GSLV-FOE; J
(By PSLV4
(Cy  flwmen

(D) GSLV-3

59
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165. Who won the Rajiv Gandhi Khel Rathna A_ward for Badminton in the vear 20167
{A)  Sakshi Malik
(B) Mary Kom
(Cy}  Pradeep Kumar
(D) PV Sindhu

ur e e sfemarunilighens 2016 b spaingar yren srbd Cad rHent eli(hens DLDpaif?
Ay  sndad) wrdls

D 3B Codl Gambd
(C)  Sgdd @woaf

D) G A

166. Which year has been declared by UNO as the “International Year of Pulses”?

Ay 2012
(B) 2013
(Cy 2016
Iy 2015

STHS UBLEMS sTeuHs LEHUIL] @IMRL DTS . BT, Siemdiiy] SiDieilsss?

@A) 2012
C ® 21
© 2016
D) 2015
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167, Maich the following

Part-1

Raj Bhavan
Rastrapathy Bhavan
impeachment

Lt. Governor

(1) (b) {c)

Ay 1 4 3
By 2 3 4
)y 4 2 3
Dy 2 1 4
ShampEsI5 -
Lepdi-1
{8)  prmuGuen
{b)  gregnpudl Leuet
(&)  QurngCrrs clleryanen
()  sienewthlane SLEHHT
(a) (b (c)
(A 1 4 3
D B 2 3 4
© 4 2 3
®» 2. 1 4

(d)

(d)

[ S ]

A w1

ro

61

Part-II

President
Governor
Union Territories

Viclation of the Constitution

L@ 1T

gengug
DHEBBT
wpelwier Grlsetisa

2irdnenotin Bpd

GRFT3
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168. The election process at the state level is supervised hy
(Ay  Chief Election Commissioner
(B Supreme Court Judge
(C)  Chief Electoral Officer
(D) High Court Judge

wrhle sierelld Cargd penpanen CoduriananSHuaut
(A)  sawenn Cafsed enammnum

(B)  eésSudp b

C) s Garze afard

D) e wikfweap f}@u;ﬁ

169. Find out the correct statement,

The Indian Constitution contains

(A)  XXIl parts, 449 Articles and 12 Schedules
By XXI parts, 438 Articles and 8 Schedules
(C)  XXIII parts, 469 Articles and 21 Schedules
(D) XX parts; 428 Articles and 18 Schedules

sfliumen eungdlugeng samGiiy.
@i eiFuapliyy ——————— GETET(HeTeTg

A Ay  XXI unsisser, 440 sragrast whmib 12 i’ L euenamser
(B) XXlursmisr, 438 55551567 hHmibd 8 Sl auenamser
(Cy XXHI unsriigen, 469 sygg a6t wHmbd 21 ot armenrse

D) XX unamsdr, 428 sragiser wHgb 18 ol L elmanser
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170.

171.

11

Which of the following is incorrectly matched?

(A)  Assassination of Gandhiji

(B) Republic Day

(C) Independence day

— January 30, 1948

— January 26, 1950

— August 13, 1947

(D)  Constituent Assembly adopted National Anthem ~ January 23, 1850

1GeneuheueteuDpeT QLIr(FEESTSS! oTEl?

(A) 5W§ﬁuq5§r Nlplales
B @uwrs Serd

€  sgpdn Stend

(D)  Gsbw Epsans spflue Hrarw saou ghHgsdand@rsd —

Which of the following is correctly matched?

(A) The President 5
(B) The Chief Minister

(C) Supreme Court -

(D)  National Anthem

Guardian of our Constitution
Appointed by the Governor
Unique Identification

Bankim Chandra Chatterjee

Genau(peuameudmieT aTgl eflwnes Gumrmbduierarg?

(A) @eurss sammet -
(B) (psoemwsst -
(C)  ebsbfoemmd -
@) Cpdu s -

Srduaampllien urgisTacn
Syiepmrmed Hlubssiuidpnt
ADULITES e _LITETRIGET

L&EhD ghdly sl e

63

sogmeurtt 30, 1548
R
spamauitl 26, 1950

e T 1 O AT
Spagein Lo, 1247

fmemeuil S, 1950
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173.

Consumer Courts are set up in —————— tier system.

Ay Two

{BY Three

{Cy  Four

Dy  Five

marGant SHodpiise ————— SDEGSIT S SiandsLILL HdTeTar.
Ay 2

By 3

Cy 4

® 5

The Tanjore king who-helped Vijayanagar king in the battle of Thalaikottai was

(A)
B)
(C)
)

Sevappa Nayak
Achutappa Nayak
Ragunatha Nayak

King Sarfoji

seovaxstamiati Gumild eilmuipsy aramase o g6l belig §Ehms waenedr

(&)

B (B)

(C)

(D)
GRFTS3

Gaeulins Brusst

DEFFULI BTUIEET

DITGETS BrsST

: aﬁ}@urﬂ@ LD GHTGETT




1

X

4.  Which of these describes the conquest and victories of Samudra Gupta?
(A) Uthiramerur inscription
(B) Allahabad Pillar inscription
(Cy  Ihola inscription

(I  Ashokas ingeription

sepddlsEier ve Guiily, daupflamers upil ehs soGeu B edfarssd gliLaH&ng?
(A o 580Cwmn seQenl B

B (B) o@eruns grew sobes{H
{0 aCeonCe sdlan H

D) Cenaien seleu

175. Who was the last Sultan of Delhi Sulthanate?

(A)  Ibrahim Lodi
(B) Sikkandar Lodi

(C) Ibrahim Ali
(D}  Dowlath Khan Lodi

Gievedt s grafiudSiar Sl eref wrf?
(A)  @Qurrafin Geomg.

A (B)  Hsspsi Comg
C) @urredid oied

D)  Ggeras srer Gaom.

—
—

65 GRFT3
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176.  Who built the Nalanda universjty?
(A} Kumara Gupta
{3y  Shri Gupta
(Cy  Chandra Gupta

(D)  Samudra Gupta

BIETHSIL LOSRE 055605 Elmedlusl wrs?

A o slgt

A B Baisr

C)  spdreost

(D) supssly gusn

Ox-bow lakes are formed in the

o
B |

(Ay Valley region
(B  Mountain region
(Cy  Plain region

(D}  Delta region

edenr GO TN BTG LE
(A) udersTEE uEd

D (B} Lﬁsﬁ@ug LGS
(€C)  swleasalil uEdl

(DY  GQrearmuss

=
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178. The shortest National Highway is
(&) NH 48 (B NHS9
() NH453A (Dy NH 47 A

Hasganis farppan i Cadw GrHereTamm

D (A)  NH 48 (B) NHY
(@ NH45 A (D) NH4T A

179,  Match the following :

{a) Grey revolution 1. Oil seeds
(b) Golden revolution 2. Rggs and poultry
(¢}  Yellow revolution 3. Marine products
{(d) Blue revolution 4,  Horticulture
() | (b) (e} {d)
Ay 2 4 i 3
By 4 2 3 1
(C) 3 1 4 L
™ 2 1 4 3
Epsa_eupens HTmesis
{a) smblUe LFLS 1 sraricenils Sl S HEarT
(b) Qurmer ygLél 2. wler wpmb GemPilLirenaT
©)  wEyeer ufl & 3. &L JueTnseT
() feodyr s 4 uphsd 2 pusd

(a) (b) (c) (d)

2 4 1 3
d 3 1
3 1 4 2
2 ] 4 3

87 GRFT3
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National motto “Satvameva Javate” hence forth appesrs as "Vaim

announced by
A Arabind Ghesh

(Cy  Kamaraj

‘F5uGne Ugwls’ aramp @irss mlld

(A 2retins Goaas

() SIS

Where was Dr. B.R. Ambedkar born?
{Ay  Mhow

(3 Saravu

Dr. B.R. o0Gugsni eTEs el tips,
{A)  waa

(€  emy

How many years V.0.C. was sentenced to imprisonment?

(A) 30
{C) 40

(B}

(1))

(B

(B}
()

(B}
(D)

o2 8. SanDd BelTLenen STESme Spem s GLhnrit

(A 30
€y 40

GRFT3

aye Vellum” in Tamil wa

Annadurai

B sumiennGis Clausigyd eTemy T
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183,  Who remarked “The light has gone out of our lives and there is darkness everywhere™?
(A  Vallabai Patel
{BY Dr. Rajendra Prasad
(Cy  Mount Batten

(1 Jawaharlal Nehru

A

. o~

“mib eurpeflah gpetl weenbgy eTh@Eh QT Eiphsy o8 L g eTend safiueuT wad?
(&) eudeurs: JGLd

. . o
By  Dr ogrGosdn Hgstg

D ) wegewm Guly e

Dy smeuepiery G

184, Who chaired the first session of the Indian National Congress held at Bombay?
(AY DMadan Mohan Malavya
{By W.C. Banerjee
{C)  Pherozeshah Mehta

(DY  Surendranath Banerjee

apendidl Bane-Cliidn BB @geﬂg amadlrdlen pad sl L EEDEG s sudldsent wimi?
(A)  gen Guoraen wierelium
By W.C unenred

B €y GuGyregast Cosgn

Dy sCrpSrnTs umeie

- 69 GRFT3
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186,

[n India the organisation which was responsible for self-sufficiency in food production was
{A) CSIR
(B) ICAR
(Cy ISRO

(D) ICMR

GhEwn 2 saray 2 pusdllle senalfianpey ENL_euSTE ETyeTiorer AlTcuarih

{A) NpsIu SifleSiuid bhgih dsTfldnil

e
Bh,

(B JpEw Cevarratr wurriéd Sneuent (ICAR)

i

55

(O Gndw SanQased Zrmiéd fmeuard (ISRO)
(DY @edu omsgen rrléd Foeanns (ICMR)

,.:-’&s expléined by Robert Malthus, Population increases in the
(A}  Proportionate ratio |

(B} Geometric ratio

(Cy  Arithmetic ratio

(D} Smaller ratio

wasd dgrasgleiaidssde aflafladns ey srum mrhse s ig
(A} a‘i‘[;%‘[g,sré:&rm CHESEY YAl

(BY  Qupésd ddissda

O alpaidssdd

D) Ay Afipsda
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i87. Which plan was implemented after the Annuai Plans of 1966 — 697
(A}  Second Five Year Plan
.(B} Fifth Five Year Plan
(Cy  Third Five Year Plan

(I Fourth Five Year Plan

1906 - 69 gacsiEnés (Suamy S ST =5 TE7

(AY @b sybgman(f Sl
D (B) smbsmbgharar( dlLb
() ppamprd mpsTaEE( Sl

(D) prevsrbd ghgran( Slb

188. “Bachpan Bachao Andoelan” is an cerganisation that fights against
{Ay  Chiid labour
{B) Bonded labour
{(C)  Child marriage

{1y  Poverty

“unsumern wiGones SECETRT cren QmLUL SDsETL BT aEDETS bauauHng?

(A @ipbns bsmflere

A B  Qergsyeaw

0y uredlus efleurgin
D apew ety
= 71 GRIT3
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189.  The base of a triangle is four times its height and ite area is 50 m2. The length of the base 1

{A) 10m

(B) 15m
(C) 20 m
Dy 256m

@ psCamamgilel Sigiussh, o wndHe 4 LLRIBEE soib LHED s uptiuemay 50 B2 sreflad

BiG60 Diin UiLISS H6TE

Ay 108
c B) 158
© 208

Dy 238

190. A can do a piece of work in 20 days and B ean do it in 25 davs. Both of them finished the
work and earned Rs. 3,600. Then A's share is

(A) Res. 1,600
B) Rs. 2,000

(Cy  Rs. 3,000
(D) Rs. 3,100

A @ CGueeew 20 prisafigid, B sews 25 prisefigud Gedg gpuiut mesms Csipg
seuCamaaws Lealg m. 3,600-1 rligemtd sifbsiamalio A-an umig
(A)  em. 1,600

B (B)

(T
(C) . 3,000
5

. 2,000

D) . 3,100

1
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SRR
191 It LEZ} \fé-, _leﬁx ; then the value of x is
GYREY
By 1
(Cy 2
Oy 3
{--E-\\'_* b .( ! \%I f:f/-z-\ll) avertle X-6 gy
1z) 12/ V12 ‘
(A -1
D By 1
€y 2
In 3

192. If 22 men can build a wall of 110 meters in 10 days. The length of a similar wall built by
30 men in 6 days 1s

(A) 100 mts

(B) 90 mts
(C 80 mts
Dy 70 mts

22 gyl adr 10 QrUNamR, 110 15 fergparar sateoy sy (P spd. 30 gplsd 6 prisdle sl
(Pl SeEid saulen Harib
(A 1008
B By 908
(Cy 805
Dy 708

= 73 GRFT3
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193.  If the ratio of length and breadth of a rectangle is 4 : 7. Find the length while its breadth is

77 em.

(A)  22em
{BY 33 cm
) 44 cem
(D) B5em

am Gasisussdar Ber siavmsafian efdlsh 4: 7 @b sman 77 dald aaflld oigedr farganss

a;rr_e;u'uraa

(&)  22Qe.d

By 33Cs.ib
c (Cy 44 Qs.8

(D)  55@sib

194. A roomis 5 m 40 em long and 4 m 50 cm broad. Its Area is

(A) 23.4m?
(B) 24.3m?
(C) 25 m?
(D)  98.01 m?

@ siempuiterg 5.0 40 a8 Bergpid wpmib 4 8 50 &b wisepb Asran(drermel eraflér oigen

LIFLILIETF&Y
‘ (A 23482
®) 24.3.8
B (C) 25482
(D) 98.01 .82

i
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195,  Simplify

=4 Lo
5244372 60113
4" 74 '8 8

4
98 108
A e 22
T (B) 9
98 : 96
C — =
© 45 D) 47
FHEGS
_5l+4§+7é+ﬁz+11~3~
4 4 8 8 4
98 108
A — By ==
@ 47 Ly 49
A ' 98 ' 96
C — Dy —
© 45 = 47

196. Find the rate of interest at which, a sum of money becomes 1 times in 2 vears.

Ay 691%
B) 671%
© 624%
D 611%

P SFWIETS 2 aumH-SHley % LD1_RIGTE 248 blwemey, wigen eully eSldisth Geusueray?

A 691%

(B) 67i%
C o e
@) 613%

T

75 : GRFT3
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197, The breadth, height and volume of a cuboid are 10 em, 11 ecm and 308{). em? respectively.
Find the length of the cuboid.

(A} 21em

(B 28cm
(C) 24em
() 30em

Q@ a1 DeaussEion eawb, 2 LD, sersera: apenCu 10 G55, 11 Qs.8. wigd 3080 G 83
aTefley g Rargang sam_fls. '

Ay  21Qs.8 -

B (B) 928 Qs.&
{C) 244Qs.8
D) 30 Qsib.

198.  Which medicine is known as “THE QUEEN OF DRUGS”
(A)  ATROPIN |
®) POLYMIXIN
(C) STREPTOMYCIN
®) PENICILLIN

“wEbasatian @rrerl” arar wienpEsLLGL Wb (e Jm (et argy?

D A  on.GymSien
B) oradlfsder

C) vl QuuCe_maminden

D) Quenfeler
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199. A man bought an old bicycle for Rs. 1,560, He spends Rs. 500 on its repair and sells it for
Rs. 1,800. Find the percentage of his loss,

Ay 10%
(B) 16%

(Cy 20%

By %

el . 1,.500-4@ om wmpw Waangenw aurkdl sfa 0. 500-65 wgsoma Eagdiprt.
apigelley  sieut opEs Wdeudmgew @ 1,800-&@ eMpdmrt erafld oeud SeLugd  pes
- sFNElFSangs ST

(A 10%

A B 15%

€ 20%
®) 5%

200. Find the LCM of ¢*b*, ab” and %%’

a) b’
B) '
¢y ot
O ab®

a’bt, ab®, b @ B Gurin. srdrs.

@) o'
B B) oV

© o

@) ab®

—
—
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